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KS2 Quiz
Unit title: Are all settlements the same?

Name: Date:

2 What settlement pattern is shown in the 
picture?

A A dispersed settlement.

B A nucleated settlement.

C A linear settlement.

D A random settlement.

4 A benefit to living in a rural area is that…

A …there is lots of beautiful countryside to enjoy.

B …you are in a very busy environment.

C …there are lots of offices and jobs.

D …there are usually a lot of schools to choose from.

3 A benefit to living in an urban area is that…

A …you are in the countryside.

B …there is lots of space in between buildings.

C …it is usually very quiet.

D …there are lots of entertainment and leisure facilities.

1 What is the largest type of settlement?

A A town.

B

C A village.

D A country.

A city.

7 Residential land use is…

A …a way of getting from one place to another.

B …land used for farming, cattle and crops.

C …land used for houses and apartment blocks

D …land which has buildings that provide fun activities.

5 Which of the following is an example of a 
physical feature?

A An apartment block.

B

C An area of woodland.

D An airport.

A playground.

6 In which compass direction is the 
location of the windmill?

A North-west.

B

C South-east.

D South-west.

North-east.
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10 What human and physical features might you find in a city?

8 Where is New Delhi located?

A India, Asia.

B

C Brazil, South America.

D Kenya, Africa.

China, Asia.

9 What type of settlement is New Delhi?

A A town.

B

C A village.

D A country.

A city.


